LGH..CA(HA)

The fhrde . .
. " Basio Basio
Size of the bolt sizes f . ‘ont, .
components Size of the blocks (mm) Size of the slide shaft (mm) of the d};::::&m s;::;c Pl:l;ll:f:;‘(lﬁgsft_:l)c Macca
Type (mm) slide 4 load
shaft
Blocks Slide
H HL N W B Bl C L1 L G Mx1t T H2 WRHR A h a P E (mm) C(kgf) Co(kgf) MO MX MY shaft

&9 (kg/m)

{f& 2845 95 | 34 26 4 | 26 396 | 606 53  M4x5 | 6 85 |15 14 |75 53 45| 60 20 | M4x16 | 1040 | 1680 & 135 11 11 021 | 147
21"(?(:[1 30 5 12 44 32 6 36 52.7 77.3 12 M5x6 8 71 120 15,95 85 6 60 20 M5x16 1650 2670 28.1 22.8 22.8 0.37 2.08
LGH

20HA| | | | - | - - 50 67 916 - - I e e I T B B - 2100 | 3400 =357 | 359 | 359 | 0.46

;f& 40 | 65 125 48 | 35 | 65 | 35 576 | 856 12 = M6x8 | 8 |11.223 20|11 | 9 | 7 | 60 | 20 | M6x20 | 2410 | 3880 | 466 | 372 | 37.2 | 059 | 3.15
aEA oo - - - 50 765 1046 - - S IR A A N N R N - 3210 | 5180 | 622 | 636 | 63.6 | 0.78

25HA - . . K X .

31“335; 45 7 | 16 | 60 40 | 10 | 40 & 72 | 1044 12  M8x10 @ 8 | 105 28 23| 14 |12 | 9 | 80 | 20 | M8x25 | 3380 | 5460 | 79.3 | 61.2 | 61.2 | 1.04 | 441
owa - - 60 93 11254 - - C e A A T T - 4400 | 7100 | 103 | 1004 | 1004 @ 1.33

30HA - X . .

;f& 55 8 18 | 70 | 50 @ 10 | 50 = 82 | 1184 | 12 | M8x12 |10 15 |34 25|14 12 | 9 | 80 | 20 | M8x25 | 4180 & 6740 1181 @ 844 & 844 | 1.72 | 5.93
ain | o - - - |72 10ss 1422 - - o R R R BT I R B - 5430 | 8770 | 1535 | 1384 | 1384 | 224

35HA - - . . . .

4Lchljx 70| 10 | 205 86 | 60 | 13 | 60 | 99.6 < 139.2 | 12.9  M10x17 | 15| 21 |45 32 20 17 | 14 | 105 | 22.5 | M12x35 6020 | 9710 | 223.5 | 141.3 | 141.3 | 3.16 | 10.01
min | c oo - - - 80 13 126 - - S I N A N R N I - 8430 | 13600 | 312.8 | 2593 | 259.2 | 4.28

45HA - . . .

51“;3& 80| 13 (235 100 | 75 | 12.5| 75 | 115.8  164.8 | 12.9 MI12x18 17 | 22 |53 40 23 20 | 16 120 | 30 | M14x45 9740 | 13320 3849 | 280.9 | 280.9 | 53 | 14.82
- . - | 95 154712037 - - S DR B T R R R - - 11810 | 18510 | 489.8 | 442.7 | 4427 @ 64

55HA - - . . . .

é‘sGCl—.lI\ 90 | 19 | 31.5 126 | 76 25 70 | 138.6  197.6  12.9 M16x20 25 20 | 63 48 26 | 22 18 | 150 | 35 | M16x50 | 14940 | 20990 738.8 579 579 7.3 | 21.26
LGH

65HA | | | - | - | - | - 1201876 2466 - - S AT B N IR R B I - 18390 | 27390 | 1007.5 | 1040.8 | 1040.8 = 9.3

{fc‘x 2445 16 | 47 38 45 30 396 | 606 53 M5 | 6 45 15 14|75 53 45| 60 20 | M4*16 | 1040 | 1680 @ 135 11 11 02 | 147
;“gc"g 30 5 215 63| 53 5 | 40 527 | 77.3 | 12 M6 |8 71 20 15 95|85 6 | 60 20 | M5%16 | 1650 | 2670 | 28.1 | 22.8 | 22.8 | 0.46 | 2.08
LGW

20HA | | | | | - 67 916 - - N I B B B A T - 2100 | 3400 =357 | 359 | 359 | 0.58

%%i 3665 235 70 | 57 65 | 45  57.6 | 856 | 12 M8 |8 72 23/20 11| 9 7 | 60 20 | M6*20 | 2410 | 3880 | 46.6 | 37.2 | 37.2 | 0.64 | 3.15
LGW

2%HA| | S| | | | - - | 7661046 - - 2N IR T R IR R BT I A - 3210 | 5180 = 622 | 63.6 | 63.6 | 0.86

3L(§3C"X 4207 31 90 72| 9 |52 72 (1044 12 M0 | 8 | 75 282314 12| 9 80 | 20 | M8*25 | 3380 | 5460 | 79.3 | 612 | 612 | 12 | 441
LGW

30HA| | | | | | - 93 12540 - - 0 IR T AR IR R IR I - 4400 | 7100 = 103 | 1004 | 100.4 | 156

W as 8 33 (100 82 9 |62 82 1184 12 | MIO |10 8 |34 25 14 12| 9 80 | 20 M825 | 4180 | 6740 1181 | 844 | 844 178 593
LGW

35HA | T | T T o - - 1058 1422 - - S IR N B R R I - - 5430 | 8770 | 153.5 | 1384 | 138.4 | 2.34

i"sch 60 | 10 | 37.5 | 120 | 100 10 80 99.6 | 139.2 129 M12 15 11 |45 32 20 17 14 105 225 M12*35 6020 9710 223.5 141.3 141.3 3.13 | 10.01
LGW

5HA | T T o - 188 126 - - I e e I T B B - 8430 | 13600 312.8 | 259.2 | 259.2 | 4.27

éfc"x 70 | 13 1435 140 116 12 | 95 | 1158 | 164.8 | 129 MI14 |17 12 |53 40|23 20 | 16 120 30 | MI14*5 9740 | 13320 384.9 | 280.9 | 280.9 @ 55 | 14.82
LGW

SSHA | | | | | | o 15472037 - - 2 AT N IR N B I B - 11810 | 18510 | 489.8 | 442.7 | 442.7 @ 6.7

éfc"x 90 | 19 | 535 170 | 142 14 | 110 138.6 | 197.6 | 129 M16 |23 20 |63 48|26 22 | 18 | 150 35 | MI6*50 | 14940 20990 738.8 & 579 | 579 | 85  21.26
LGW

65HA | | | | | - | - - 1876 2466 - - S B B B e N B - 18390 | 27390 | 1007.5 | 1040.8 | 1040.8 | 10.7

Page : 1/1



